Factorisation
Ex 7D

Q1

Answer :

The given expression is ° + 5z + 6.
Find two numbers that follow the conditions given below :
Sum =5
Product =6
Clearly, the numbers are 3 and 2.
2+ 5z+6= 22+ 3z + 2z + 6
—x(x+3) +2(z+3)
=(z+3) (z+2)

Q2

Answer:

The given expression is y*> + 10y + 24.

Find two numbers that follow the conditions given below :

Sum = 10

Product =24

Clearly, the numbers are 6 and 4.

¥+ 10y + 24 = y?+ 6y + 4y + 24
=y (y+6) +4(y+6)
= (y+6) (vy+49)

Q3

Answer:

The given expression is z°> + 12z + 27T.
Find two numbers that follow the conditions given below :
Sum =12
Product = 27
Clearly, the numbers are O and 3.
224+ 122+ 27 = 22+ 092 + 3z + 27
=z(z+9) +3(z+9)
=(z+9) (2+3)

Q4



Answer:

The given expression is p° + Gp + 8.
Find two numbers that follow the conditions given below :
Sum =6
Product =8
Clearly, the numbers are 4 and 2.
P+6p+ 8= p’+4dp+ 2p +8
=p(p+4) +2(p+4)
=(pt+4) (p+2)

Q5

Answer:

The given expression is x> + 15z + 56.
Find two numbers that follow the conditions given below :
Sum =15
Product = 56
Clearly, the numbers are 8 and 7.
x4 162 + 56 = 2>+ 8z + Tz +56
=z(z+8) +7 (z+8)
=(z+8) (z+7)

Qé

Answer :

The given expression is y> + 19y + 60,
Find two numbers that follow the conditions given below :
Sum =19
Product = 60
Clearly, the numbers are 15 and 4.
yi+ 19y + 60 = y* + 15y + 4y +60
=y(y+15) +4 (y+15)
= (y+15) (y+4)
Q7

Answer:

The given expression is x> + 13z + 40.
Find two numbers that follow the conditions given below :
Sum =13
Product = 40
Clearly, the numbers are 8 and 5.
22+ 13z + 40= 2%+ 8z + 5z +40

=z(z+8) +5 (z+8)

= (z+8) (z+5)

Q8

Answer:

The given expression is q> — 10g + 21.

Find two numbers that follow the conditions given below :
Sum = —10

Product =21

Clearly, the numbers are — 7 and — 3.

g> —10g + 21= ¢ —7qg —3g+ 21
=q(g—7) —3(¢-7)
=(¢-7) (¢ 3)

Q9



Answer :

The given expression is p’ + 6p — 16.

Find two numbers that follow the conditions given below :
Sum =6

Product = —16

Clearly, the numbers are 8 and — 2.

P+ 6p—16= p+8p—2p — 16
=p(p+8) —2(p+8)
=(p+8) (p-2)
Q10

Answer:

The given expression is x° — 10z + 24.

Find two numbers that follow the conditions given below :
Sum = —10

Product =24

Clearly, the numbers are — 6 and — 4.

z?— 10z +24= z?—6z—4z +24
=z(z—6) —4 (z—6)

~(e6) (= 4)

Q11

Answer:

The given expression is ©° — 23z + 42.
Find two numbers that follow the conditions given below :
Sum = —23
Product =42
Clearly, the numbers are — 21 and — 2.
z2—-23z + 2= 2?2 -21x -2z + 42
=z(r—21) —2(x—21)

=(z—21) (z—2)

Q12

Answer :

The given expression is > — 17z + 16.
Find two numbers that follow the conditions given below :
Sum = —17
Product = 16
Clearly, the numbers are — 16 and — 1.
22— 17z + 16 = z?— 16z —z + 16
=z(zr—16) —1 (z—16)

= (z—16) (z—1)
Q13

Answer :

The given expression isy” — 21y + 90.

Find two numbers that follow the conditions given below :
Sum = —21

Product =90
Clearly, the numbers are — 15 and — 6.

y?— 21y + 90 = y* — 15y — 6y + 90
=y(y—15) —6 (y—15)

=(¥—15) (v—6)

Q14



Answer :

The given expression is x° — 22z + 117.
Find two numbers that follow the conditions given below :
Sum = —22
Product =117
Clearly, the numbers are — 13 and — 9.
z? 22z + 117= z?—13z — 9z + 117
=z(zr—13) -0 (z—13)

=(z—13) (z—9)
Q15

Answer :

The given expression is x> — 9z + 20.

Find two numbers that follow the conditions given below :
Sum = —90

Product =20

Clearly, the numbers are —5 and — 4.

-0z + 20= z’-5r—4x + 20
=z(r—5) —4(z—5)

~e5) (9
Q16

Answer :

The given expressionis x> +z — 132

Find two numbers that follow the conditions given below :
Sum =1andp

Product — —132

Clearly, the numbers are 12 and — 11.

?+z —132= 2?+12z 11z —132

=x(rx+12) —11 (z+12)
= (z+12) (z—11)

Q17

Answer:

The given expression is x° + 5z — 104.
Find two numbers that follow the conditions given below :
Sum =5
Product = —104
Clearly, the numbers are 13 and — 8.
z2+5z —104= z?+13z— 8z — 104

=z(r+13) -8 (z+13)

= (z+13) (z—8)

Q18

Answer:

The given expression is y> + Ty — 144,
Find two numbers that follow the conditions given below :
Sum =T
Product = —144
Clearly, the numbers are 16 and — 9.
Y+ Ty —144= y? +16y— 9y — 144

=y(y+16) — 9 (y+16)

= (y+16) (v—9)

Q19



Answer :

The given expression is z> + 19z — 150,

Find two numbers that follow the conditions given below :
Sum =19

Product = —150

Clearly, the numbers are 25 and — 6.

22+19z — 150 = 2%+ 25z — 6z — 150
=2(2+25) —6 (2+25)
= (z+25) (2—6)

Q20

Answer:

The given expressionis y®> +y — 72.
Find two numbers that follow the conditions given below :
Sum =1
Product = —T72
Clearly, the numbers are 9 and — 8.
viy —72= y*+9y -8y — 72

=y(y+9) —8(y+9)

= (w+9) (v-8)

Q21

Answer:

The given expression is a’ + 6a — O1.
Find two numbers that follow the conditions given below :
Sum =6
Product = —91
Clearly, the numbers are 13 and — 7.
a?+6a —91= a’+13%a—Ta —01

=a(a+13) —7 (a+13)

=(a+13) (a—7)

Q22

Answer:

The given expression is p° — 4p — 77.
Find two numbers that follow the conditions given below :
Sum = —4
Product = —77
Clearly, the numbers are — 11 and 7.
pP—dp 77— p—1lp+7p — 77
=p(p—11) +7 (p—11)
=(p—11) (p+7)

Q23

Answer:

The given expression is > — Tz — 30.
Find two numbers that follow the conditions given below :
Sum = —T
Product = —30
Clearly, the numbers are — 10 and 3.
2 -7z —30= z?—10z+3z —30
=z(z—10) +3 (z—10)
— (z—10) (z+3)

Q24



Answer :

The given expression is x> — 11z — 42.

Find two numbers that follow the conditions given below :
Sum = —11

Product = —42

Clearly, the numbers are — 14 and 3.

o2 —1lx —42= z?—14z+3x —42
=z(z—14) +3 (z—14)
— (z—14) (z+3)

Q25

Answer:

The given expression is x° — 5z — 24.

Find two numbers that follow the conditions given below :
Sum = —5

Product — —24

Clearly, the numbers are — 8 and 3.

2 -5z —24= z?—-8r+3r —24
=xz(r—8) +3 (z—8)
— (z—8) (z+3)

Q26

Answer:

The given expression is y> — 6y — 135.

Find two numbers that follow the conditions given below :
Sum = —6

Product = —135

Clearly, the numbers are — 15 and 0.

v 6y —135— 12— 15y+0y —135
=y(y—15) +9 (y—15)
=(y—15) (y+9)

Q27

Answer:

The given expression is z> — 12z — 45.

Find two numbers that follow the conditions given below :
Sum = —12

Product = —45

Clearly, the numbers are — 15 and 3.

22122 —45= 22— 15z+3z —45
=z(z—15) +3 (2—15)
—(z-15) (z+3)

Q28

Answer:

The given expression is > — 4z — 12.

Find two numbers that follow the conditions given below :
Sum = —4

Product = —12

Clearly, the numbers are — 6 and 2.

z? -4z —12= z?—6z +2z —12
=z(z—6) +2 (zx—6)

— (2 6) (&+2)

Q29



Answer :

The given expression is 3z° + 10z + 8.

Find two numbers that follow the conditions given below :
Sum =10

Product =3x8 =24

Clearly, the numbers are 6 and 4.

dz?+10zx +8= 322 +10x +8
=3z +6z+4z +8
=3x(x+2)+4(x+2)
=(z+2) (3z +4)

Q30

Answer :

The given expression is 3y° + 14y +8

Find two numbers that follow the conditions given below :
Sum — 14

Product = 24

Clearly, the numbers are 12 and 2.

y? + 14y +8= 3y’ +12y+ 2y +8
=3y(y+4)+2 (y+4)
=(3y+2) (v+4)

Q31

Answer :

The given expression is 3z° — 10z + 8.

Find two numbers that follow the conditions given below :
Sum = —10

Product =3 x8=24
Clearly, the numbers are — 6 and — 4.
322 - 10z +8= 322 —6z—4z +8
= 3z(2—2) —4(z —2)
=(3z—4)(2—2)
Q32

Answer :

The given expression is 2z2 +x — 45.

Find two numbers that follow the conditions given below :
Sum =1

Product = —45 x 2= —00

Clearly, the numbers are 10 and — 9.

2% 4+ —45= 222 +10z — 0z —45
= 2x(z +5) —9(x+5)
— (22— 9)(z+5)

Q33

Answer :

The given expression is 6p° + 11p — 10.

Find two numbers that follow the conditions given below :
Sum =11

Product =6 x —10 = —60
Clearly, the numbers are 15 and — 4.
6p° +11p —10= 6p®> +15p —4p—10
= 3p(2p +5) —2(2p+5)
=(2p+5)(3p—2)

Q34



Answer :

The given expression is 2z — 17z — 30,

Find two numbers that follow the conditions given below :
Sum = —17

Product = —30x 2= —60

Clearly, the numbers are — 20 and 3.

22 — 17z —30= 222 —20z+3z — 30
= 2z(z —10) + 3(z—10)
= (2z + 3) (z — 10)

Q35

Answer :

The given expression is Ty> — 19y — 6.

Find two numbers that follow the conditions given below :
Sum — —19

Product =7 x —6 = —42

Clearly, the numbers are — 21 and 2.
Ty — 10y —6= Ty* — 21y +2y —6
Tyly —3) +2(y—3)
= (Ty+2)(y—3)

Q36

Answer :

The given expression is 28 — 31z — 5z°.

Find two numbers that follow the conditions given below :
Sum = —31

Product =28 x —5 = —140

Clearly, the numbers are — 35 and 4.

28 — 31z — 522 = 28 + 4% — 35z — 5z
= 4(z+7) —5z(7 +x)
=(z+7) (4-5z)

Q37

Answer:

The given expression is 3 + 23z — 822,

Find two numbers that follow the conditions given below :
Sum = 23

Product = 3 x —8=-24
Clearly, the numbers are 24 and — 1.
3+23z— 822 = 3+ 24z— z— 827
= 3(1+8z) — z(1 +82)
=(1+8z) (3-2)

Q38

Answer :

The given expression is 6z — 5 — 6.

Find two numbers that follow the conditions given below :
Sum = —5

Product = —6 x 6 = —36
Clearly, the numbers are — 9 and 4.
6z -5z — 6= 6z -9z +4x —6
= 3z(2x — 3) +2(2z - 3)
=(2z-3) (3z+2)

Q39



Answer:

The given expression is 3m? + 24m + 36.

Find two numbers that follow the conditions given below :
Sum =24

Product = 36 x 3 =108
Clearly, the numbers are 18 and 6.
3m? + 24m +36 = 3m®+ 18m+6m + 36
= 3m(m+6) +6(m + 6)
= (3m+6) (m+6) = 23(m+2)(m +6)

Q40

Answer :

The given expression is 4n”> —8n + 3.

Find two numbers that follow the conditions given below :
Sum = —8

Product =4 x3 =12
Clearly, the numbers are — 6 and — 2.
4n? —8n +3=4n> —2n —6n+3
= 2n(2n—1) - 3(2n—1)
=(2n—1) (2n—-3)
Q41

Answer :

The given expression is 6z> — 17z — 3.

Find two numbers that follow the conditions given below :
Sum = —17

Product = 6 x —3=—18
Clearly, the numbers are — 18 and 1.
6z — 17z —3 =622 —18z+x—3
= bz(z—3) +1(z—3)
= (6z+1) (x—3)

Q42

Answer :

The given expression is Tz> — 19z — 6.

Find two numbers that follow the conditions given below :
Sum = —19

Product =7 x —6 = —42

Clearly, the numbers are — 21 and 2.

722 — 19z — 6 =Tz? — 21z + 22— 6
= Tz(z—3) +2(zx—3)
=(Tz+2) (z—3)



